Progression and Retention Rates Fall 2004 Revised Freshmen Cohort University

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
Total	2,137	597 (27.9%)	855 (40.0%)	1,452 (67.9%)	434 (20.3%)	748 (35.0%)	1,182 (55.3%)	361 (16.9%)	613 (28.7%)	974 (45.6%)	223 (10.4%)	559 (26.2%)	714 (33.4%)
Same Major		383 (17.9%)	582 (27.2%)	965 (45.2%)	198 (9.3%)	345 (16.1%)	543 (25.4%)	133 (6.2%)	185 (8.7%)	318 (14.9%)	72 (3.4%)	158 (7.4%)	181 (8.5%)
Changed Major		214 (10.0%)	273 (12.8%)	487 (22.8%)	236 (11.0%)	403 (18.9%)	639 (29.9%)	228 (10.7%)	428 (20.0%)	656 (30.7%)	151 (7.1%)	401 (18.8%)	533 (24.9%)

Note: Based on IPEDS definition of first-time, full-time, degree-seeking freshmen

Progression means the student was enrolled that semester at the next classification, I.e. Sophomore in year 2, Junior in year 3, and Senior in year 4

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Arts, Humanities & Social Sciences

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
Total	314	80 (25.5%)	122 (38.9%)	202 (64.3%)	57 (18.2%)	97 (30.9%)	154 (49.0%)	57 (18.2%)	81 (25.8%)	138 (43.9%)	38 (12.1%)	86 (27.4%)	101 (32.2%)
Same Major		54 (17.2%)	81 (25.8%)	135 (43.0%)	32 (10.2%)	51 (16.2%)	83 (26.4%)	30 (9.6%)	33 (10.5%)	63 (20.1%)	23 (7.3%)	40 (12.7%)	46 (14.6%)
Changed Major		26 (8.3%)	41 (13.1%)	67 (21.3%)	25 (8.0%)	46 (14.6%)	71 (22.6%)	27 (8.6%)	48 (15.3%)	75 (23.9%)	15 (4.8%)	46 (14.6%)	55 (17.5%)

College Academic Progress Rate: 856

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Communications

	Original Cohort	Progressed Fall 2005	Did Not Progress Fall 2005	Total Retention Fall 2005	Progressed Fall 2006	Did Not Progress Fall 2006	Total Retention Fall 2006	Progressed Fall 2007	Did Not Progress Fall 2007		Four Year Graduation Rate	Five Year Graduation Rate	Six Year Graduation Rate
Total	52	10 (19.2%)	24 (46.2%)	34 (65.4%)	6 (11.5%)	16 (30.8%)	22 (42.3%)	7 (13.5%)	13 (25.0%)	20 (38.5%)	4 (7.7%)	13 (25.0%)	15 (28.8%)
Same Major		8 (15.4%)	14 (26.9%)	22 (42.3%)	2 (3.8%)	11 (21.2%)	13 (25.0%)	2 (3.8%)	7 (13.5%)	9 (17.3%)	2 (3.8%)	6 (11.5%)	7 (13.5%)
Changed Major		2 (3.8%)	10 (19.2%)	12 (23.1%)	4 (7.7%)	5 (9.6%)	9 (17.3%)	5 (9.6%)	6 (11.5%)	11 (21.2%)	2 (3.8%)	7 (13.5%)	8 (15.4%)
COMM-BA	50	10 (20.0%)	24 (48.0%)	34 (68.0%)	6 (12.0%)	16 (32.0%)	22 (44.0%)	7 (14.0%)	13 (26.0%)	20 (40.0%)	4 (8.0%)	13 (26.0%)	15 (30.0%)
Same Major		8 (16.0%)	14 (28.0%)	22 (44.0%)	2 (4.0%)	11 (22.0%)	13 (26.0%)	2 (4.0%)	7 (14.0%)	9 (18.0%)	2 (4.0%)	6 (12.0%)	7 (14.0%)
Changed Major		2 (4.0%)	10 (20.0%)	12 (24.0%)	4 (8.0%)	5 (10.0%)	9 (18.0%)	5 (10.0%)	6 (12.0%)	11 (22.0%)	2 (4.0%)	7 (14.0%)	8 (16.0%)
CMED-BA	2	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Same Major		0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)

CMED-BA N/A

Department Academic Progress Rate: 853 College Academic Progress Rate: 856

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort English

	Original	Progressed		Total Retention	Progressed		Total Retention Fall	Progressed		Total Retention Fall	Four Year Graduation	Five Year Graduation	Six Year Graduation
	Cohort	Fall 2005	2005	Fall 2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
Total	24	6 (25.0%)	8 (33.3%)	14 (58.3%)	5 (20.8%)	6 (25.0%)	11 (45.8%)	3 (12.5%)	7 (29.2%)	10 (41.7%)	3 (12.5%)	5 (20.8%)	7 (29.2%)
Same Major		1 (4.2%)	8 (33.3%)	9 (37.5%)	3 (12.5%)	4 (16.7%)	7 (29.2%)	2 (8.3%)	2 (8.3%)	4 (16.7%)	1 (4.2%)	1 (4.2%)	1 (4.2%)
Changed Major		5 (20.8%)	0 (0.0%)	5 (20.8%)	2 (8.3%)	2 (8.3%)	4 (16.7%)	1 (4.2%)	5 (20.8%)	6 (25.0%)	2 (8.3%)	4 (16.7%)	6 (25.0%)
ENGL-BA	4	1 (25.0%)	3 (75.0%)	4 (100.0%)	2 (50.0%)	1 (25.0%)	3 (75.0%)	2 (50.0%)	1 (25.0%)	3 (75.0%)	1 (25.0%)	1 (25.0%)	2 (50.0%)
Same Major		1 (25.0%)	3 (75.0%)	4 (100.0%)	2 (50.0%)	1 (25.0%)	3 (75.0%)	2 (50.0%)	0 (0.0%)	2 (50.0%)	1 (25.0%)	1 (25.0%)	1 (25.0%)
Changed Major		0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (25.0%)	1 (25.0%)	0 (0.0%)	0 (0.0%)	1 (25.0%)
LAS-BA	7	2 (28.6%)	2 (28.6%)	4 (57.1%)	0 (0.0%)	3 (42.9%)	3 (42.9%)	0 (0.0%)	2 (28.6%)	2 (28.6%)	1 (14.3%)	1 (14.3%)	1 (14.3%)
Same Major		0 (0.0%)	2 (28.6%)	2 (28.6%)	0 (0.0%)	1 (14.3%)	1 (14.3%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		2 (28.6%)	0 (0.0%)	2 (28.6%)	0 (0.0%)	2 (28.6%)	2 (28.6%)	0 (0.0%)	2 (28.6%)	2 (28.6%)	1 (14.3%)	1 (14.3%)	1 (14.3%)
ENGE-BA	13	3 (23.1%)	3 (23.1%)	6 (46.2%)	3 (23.1%)	2 (15.4%)	5 (38.5%)	1 (7.7%)	4 (30.8%)	5 (38.5%)	1 (7.7%)	3 (42.9%)	4 (57.1%)
Same Major		0 (0.0%)	3 (23.1%)	3 (23.1%)	1 (7.7%)	2 (15.4%)	3 (23.1%)	0 (0.0%)	2 (15.4%)	2 (15.4%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		3 (23.1%)	0 (0.0%)	3 (23.1%)	2 (15.4%)	0 (0.0%)	2 (15.4%)	1 (7.7%)	2 (15.4%)	3 (23.1%)	1 (7.7%)	3 (42.9%)	4 (57.1%)

Average Time-to-Degree for 2009-2010 graduates

ENGL-BA 16.4 LAS-BA 43.5 ENGE-BA 14.0

Department Academic Progress Rate: 867 College Academic Progress Rate: 856

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Foreign Language & Literature

	Original Cohort	Progressed Fall 2005	Did Not Progress Fall 2005	Total Retention Fall 2005	Progressed Fall 2006	Did Not Progress Fall 2006	Total Retention Fall 2006	Progressed Fall 2007	Did Not Progress Fall 2007	Total Retention Fall 2007	Four Year Graduation Rate	Five Year Graduation Rate	Six Year Graduation Rate
Total Same Major Changed Major	2	2 (100.0%) 1 (50.0%) 1 (50.0%)	0 (0.0%) 0 (0.0%) 0 (0.0%)	2 (100.0%) 1 (50.0%) 1 (50.0%)	1 (50.0%) 1 (50.0%) 0 (0.0%)	1 (50.0%) 0 (0.0%) 1 (50.0%)	2 (100.0%) 1 (50.0%) 1 (50.0%)	1 (50.0%) 1 (50.0%) 0 (0.0%)	0 (0.0%) 0 (0.0%) 0 (0.0%)	1 (50.0%) 1 (50.0%) 0 (0.0%)	0 (0.0%) 0 (0.0%) 0 (0.0%)	2 (100.0%) 1 (50.0%) 1 (50.0%)	2 (100.0%) 1 (50.0%) 1 (50.0%)
FREN-BA Same Major Changed Major	0		N/A			N/A			N/A		"	N/A	
SPAN-BA Same Major Changed Major	1	1 (100.0%) 1 (100.0%) 0 (0.0%)	0 (0.0%) 0 (0.0%) 0 (0.0%)	1 (100.0%) 1 (100.0%) 0 (0.0%)	1 (100.0%) 1 (100.0%) 0 (0.0%)	0 (0.0%) 0 (0.0%) 0 (0.0%)	1 (100.0%) 1 (100.0%) 0 (0.0%)	` /	0 (0.0%) 0 (0.0%) 0 (0.0%)	1 (100.0%) 1 (100.0%) 0 (0.0%)	0 (0.0%) 0 (0.0%) 0 (0.0%)	1 (100.0%) 1 (100.0%) 0 (0.0%)	1 (100.0%) 1 (100.0%) 0 (0.0%)
FRED-BA Same Major Changed Major	0		N/A			N/A			N/A		И	N/A	
SPAE-BA Same Major Changed Major	1	1 (100.0%) 0 (0.0%) 1 (100.0%)	0 (0.0%) 0 (0.0%) 0 (0.0%)	1 (100.0%) 0 (0.0%) 1 (100.0%)	0 (0.0%) 0 (0.0%) 0 (0.0%)	1 (100.0%) 0 (0.0%) 1 (100.0%)	1 (100.0%) 0 (0.0%) 1 (100.0%)	0 (0.0%)	0 (0.0%) 0 (0.0%) 0 (0.0%)	0 (0.0%) 0 (0.0%) 0 (0.0%)	0 (0.0%) 0 (0.0%) 0 (0.0%)	1 (100.0%) 0 (0.0%) 1 (100.0%)	1 (100.0%) 0 (0.0%) 1 (100.0%)

Average Time-to-Degree for 2009-2010 graduates

 SPAN-BA
 28.0

 SPAE-BA
 13.0

Department Academic Progress Rate: 898 College Academic Progress Rate: 856

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort History & Political Science

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
Total	63	21 (33.3%)	22 (34.9%)	43 (68.3%)	17 (27.0%)	20 (31.7%)	37 (58.7%)	14 (22.2%)	18 (28.6%)	32 (50.8%)	13 (20.6%)	22 (34.9%)	24 (38.1%)
Same Major		12 (19.0%)	13 (20.6%)	25 (39.7%)	9 (14.3%)	8 (12.7%)	17 (27.0%)	7 (11.1%)	5 (7.9%)	12 (19.0%)	7 (11.1%)	9 (14.3%)	9 (14.3%)
Changed Major		9 (14.3%)	9 (14.3%)	18 (28.6%)	8 (12.7%)	12 (19.0%)	20 (31.7%)	7 (11.1%)	13 (20.6%)	20 (31.7%)	6 (9.5%)	13 (20.6%)	15 (23.8%)
HIST-BA	25	7 (28.0%)	7 (28.0%)	14 (56.0%)	7 (28.0%)	2 (8.0%)	9 (36.0%)	6 (24.0%)	3 (12.0%)	9 (36.0%)	6 (24.0%)	6 (24.0%)	6 (24.0%)
Same Major		5 (20.0%)	3 (12.0%)	8 (32.0%)	5 (20.0%)	2 (8.0%)	7 (28.0%)	4 (16.0%)	1 (4.0%)	5 (20.0%)	4 (16.0%)	4 (16.0%)	4 (16.0%)
Changed Major		2 (8.0%)	4 (16.0%)	6 (24.0%)	2 (8.0%)	0 (0.0%)	2 (8.0%)	2 (8.0%)	2 (8.0%)	4 (16.0%)	2 (8.0%)	2 (8.0%)	2 (8.0%)
POLI-BA	21	9 (42.9%)	8 (38.1%)	17 (81.0%)	7 (33.3%)	11 (52.4%)	18 (85.7%)	5 (23.8%)	9 (42.9%)	14 (66.7%)	4 (19.0%)	11 (52.4%)	12 (57.1%)
Same Major		4 (19.0%)	5 (23.8%)	9 (42.9%)	3 (14.3%)	4 (19.0%)	7 (33.3%)	2 (9.5%)	3 (14.3%)	5 (23.8%)	2 (9.5%)	4 (19.0%)	4 (19.0%)
Changed Major		5 (23.8%)	3 (14.3%)	8 (38.1%)	4 (19.0%)	7 (33.3%)	11 (52.4%)	3 (14.3%)	6 (28.6%)	9 (42.9%)	2 (9.5%)	7 (33.3%)	8 (38.1%)
SST-BA	17	5 (29.4%)	7 (41.2%)	12 (70.6%)	3 (17.6%)	7 (41.2%)	10 (58.8%)	3 (17.6%)	6 (35.3%)	9 (52.9%)	3 (17.6%)	5 (23.8%)	6 (28.6%)
Same Major		3 (17.6%)	5 (29.4%)	8 (47.1%)	1 (5.9%)	2 (11.8%)	3 (17.6%)	1 (5.9%)	1 (5.9%)	2 (11.8%)	1 (5.9%)	1 (4.8%)	1 (4.8%)
Changed Major		2 (11.8%)	2 (11.8%)	4 (23.5%)	2 (11.8%)	5 (29.4%)	7 (41.2%)	2 (11.8%)	5 (29.4%)	7 (41.2%)	2 (11.8%)	4 (19.0%)	5 (23.8%)

Average Time-to-Degree for 2009-2010 graduates

HIST-BA 17.4 POLI-BA 12.4 SST-BA 13.4

Department Academic Progress Rate: 870 College Academic Progress Rate: 856

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Music & Dramatic Arts

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
Total	46	20 (43.5%)	15 (32.6%)	35 (76.1%)	21 (45.7%)	7 (15.2%)	28 (60.9%)	21 (45.7%)	6 (13.0%)	27 (58.7%)	5 (10.9%)	14 (30.4%)	20 (43.5%)
Same Major		17 (37.0%)	12 (26.1%)	29 (63.0%)	17 (37.0%)	3 (6.5%)	20 (43.5%)	13 (28.3%)	1 (2.2%)	14 (30.4%)	2 (4.3%)	6 (13.0%)	9 (19.6%)
Changed Major		3 (6.5%)	3 (6.5%)	6 (13.0%)	4 (8.7%)	4 (8.7%)	8 (17.4%)	8 (17.4%)	5 (10.9%)	13 (28.3%)	3 (6.5%)	8 (17.4%)	11 (23.9%)
MUS-BM	26	11 (42.3%)	8 (30.8%)	19 (73.1%)	10 (38.5%)	3 (11.5%)	13 (50.0%)	11 (42.3%)	3 (11.5%)	14 (53.8%)	4 (15.4%)	8 (30.8%)	12 (46.2%)
Same Major		9 (34.6%)	7 (26.9%)	16 (61.5%)	9 (34.6%)	0 (0.0%)	9 (34.6%)	6 (23.1%)	1 (3.8%)	7 (26.9%)	2 (7.7%)	3 (11.5%)	5 (19.2%)
Changed Major		2 (7.7%)	1 (3.8%)	3 (11.5%)	1 (3.8%)	3 (11.5%)	4 (15.4%)	5 (19.2%)	2 (7.7%)	7 (26.9%)	2 (7.7%)	5 (19.2%)	7 (26.9%)
MUED-BMED	20	9 (45.0%)	7 (35.0%)	16 (80.0%)	11 (55.0%)	4 (20.0%)	15 (75.0%)	10 (50.0%)	3 (15.0%)	13 (65.0%)	1 (5.0%)	6 (30.0%)	8 (40.0%)
Same Major		8 (40.0%)	5 (25.0%)	13 (65.0%)	8 (40.0%)	3 (15.0%)	11 (55.0%)	7 (35.0%)	0 (0.0%)	7 (35.0%)	0 (0.0%)	3 (15.0%)	4 (20.0%)
Changed Major		1 (5.0%)	2 (10.0%)	3 (15.0%)	3 (15.0%)	1 (5.0%)	4 (20.0%)	3 (15.0%)	3 (15.0%)	6 (30.0%)	1 (5.0%)	3 (15.0%)	4 (20.0%)

Average Time-to-Degree for 2009-2010 graduates

MUS-BM 13.1 MUED-BMED 16.0

Department Academic Progress Rate: 903 College Academic Progress Rate: 856

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Psychology

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
PSYC-BA	79	21 (26.6%)	33 (41.8%)	54 (68.4%)	13 (16.5%)	29 (36.7%)	42 (53.2%)	11 (13.9%)	24 (30.4%)	35 (44.3%)	8 (10.1%)	22 (27.8%)	26 (32.9%)
Same Major		12 (15.2%)	20 (25.3%)	32 (40.5%)	4 (5.1%)	13 (16.5%)	17 (21.5%)	3 (3.8%)	10 (12.7%)	13 (16.5%)	4 (5.1%)	9 (11.4%)	10 (12.7%)
Changed Major		9 (11.4%)	13 (16.5%)	22 (27.8%)	9 (11.4%)	16 (20.3%)	25 (31.6%)	8 (10.1%)	14 (17.7%)	22 (27.8%)	4 (5.1%)	13 (16.5%)	16 (20.3%)

Average Time-to-Degree for 2009-2010 graduatesPSYC-BA 15.3

Department Academic Progress Rate: 833 College Academic Progress Rate: 856

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Sociology & Criminal Justice

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
Total	69	13 (18.8%)	24 (34.8%)	37 (53.6%)	8 (11.6%)	21 (30.4%)	29 (42.0%)	9 (13.0%)	17 (24.6%)	26 (37.7%)	7 (10.1%)	14 (20.3%)	16 (23.2%)
Same Major		10 (14.5%)	16 (23.2%)	26 (37.7%)	4 (5.8%)	13 (18.8%)	17 (24.6%)	6 (8.7%)	7 (10.1%)	13 (18.8%)	5 (7.2%)	7 (10.1%)	8 (11.6%)
Changed Major		3 (4.3%)	8 (11.6%)	11 (15.9%)	4 (5.8%)	8 (11.6%)	12 (17.4%)	3 (4.3%)	10 (14.5%)	13 (18.8%)	2 (2.9%)	7 (10.1%)	8 (11.6%)
CJ-AA	3	1 (33.3%)	1 (33.3%)	2 (66.7%)	1 (33.3%)	0 (0.0%)	1 (33.3%)	1 (33.3%)	0 (0.0%)	1 (33.3%)	1 (33.3%)	1 (33.3%)	1 (33.3%)
Same Major		1 (33.3%)	1 (33.3%)	2 (66.7%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (33.3%)	0 (0.0%)	1 (33.3%)	1 (33.3%)	0 (0.0%)	1 (33.3%)	1 (33.3%)	1 (33.3%)	1 (33.3%)
CJ-BA	54	9 (16.7%)	18 (33.3%)	27 (50.0%)	4 (7.4%)	19 (35.2%)	23 (42.6%)	6 (11.1%)	14 (25.9%)	20 (37.0%)	4 (7.4%)	10 (18.5%)	12 (22.2%)
Same Major		7 (13.0%)	13 (24.1%)	20 (37.0%)	3 (5.6%)	12 (22.2%)	15 (27.8%)	5 (9.3%)	7 (13.0%)	12 (22.2%)	4 (7.4%)	6 (11.1%)	7 (13.0%)
Changed Major		2 (3.7%)	5 (9.3%)	7 (13.0%)	1 (1.9%)	7 (13.0%)	8 (14.8%)	1 (1.9%)	7 (13.0%)	8 (14.8%)	0 (0.0%)	4 (7.4%)	5 (9.3%)
SOC-BA	12	3 (25.0%)	5 (41.7%)	8 (66.7%)	3 (25.0%)	2 (16.7%)	5 (41.7%)	2 (16.7%)	3 (25.0%)	5 (41.7%)	2 (16.7%)	3 (5.6%)	3 (5.6%)
Same Major		2 (16.7%)	2 (16.7%)	4 (33.3%)	1 (8.3%)	1 (8.3%)	2 (16.7%)	1 (8.3%)	0 (0.0%)	1 (8.3%)	1 (8.3%)	1 (1.9%)	1 (1.9%)
Changed Major		1 (8.3%)	3 (25.0%)	4 (33.3%)	2 (16.7%)	1 (8.3%)	3 (25.0%)	1 (8.3%)	3 (25.0%)	4 (33.3%)	1 (8.3%)	2 (3.7%)	2 (3.7%)

Average Time-to-Degree for 2009-2010 graduates

CJ-AA 14.0 CJ-BA 16.1 SOC-BA 18.9

Department Academic Progress Rate: 827 College Academic Progress Rate: 856

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Visual Arts

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
Total	39	6 (15.4%)	16 (41.0%)	22 (56.4%)	4 (10.3%)	13 (33.3%)	17 (43.6%)	5 (12.8%)	11 (28.2%)	16 (41.0%)	3 (7.7%)	10 (25.6%)	12 (30.8%)
Same Major		5 (12.8%)	13 (33.3%)	18 (46.2%)	2 (5.1%)	6 (15.4%)	8 (20.5%)	4 (10.3%)	4 (10.3%)	8 (20.5%)	3 (7.7%)	5 (12.8%)	6 (15.4%)
Changed Major		1 (2.6%)	3 (7.7%)	4 (10.3%)	2 (5.1%)	7 (17.9%)	9 (23.1%)	1 (2.6%)	7 (17.9%)	8 (20.5%)	0 (0.0%)	5 (12.8%)	6 (15.4%)
ART-BA	32	5 (15.6%)	13 (40.6%)	18 (56.3%)	3 (9.4%)	11 (34.4%)	14 (43.8%)	5 (15.6%)	9 (28.1%)	14 (43.8%)	3 (9.4%)	9 (28.1%)	10 (31.3%)
Same Major		4 (12.5%)	11 (34.4%)	15 (46.9%)	2 (6.3%)	6 (18.8%)	8 (25.0%)	4 (12.5%)	4 (12.5%)	8 (25.0%)	3 (9.4%)	5 (71.4%)	6 (18.8%)
Changed Major		1 (3.1%)	2 (6.3%)	3 (9.4%)	1 (3.1%)	5 (15.6%)	6 (18.8%)	1 (3.1%)	5 (15.6%)	6 (18.8%)	0 (0.0%)	4 (57.1%)	4 (12.5%)
ARED-BA	7	1 (14.3%)	3 (42.9%)	4 (57.1%)	1 (14.3%)	2 (28.6%)	3 (42.9%)	0 (0.0%)	2 (28.6%)	2 (28.6%)	0 (0.0%)	1 (14.3%)	2 (28.6%)
Same Major		1 (14.3%)	2 (28.6%)	3 (42.9%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		0 (0.0%)	1 (14.3%)	1 (14.3%)	1 (14.3%)	2 (28.6%)	3 (42.9%)	0 (0.0%)	2 (28.6%)	2 (28.6%)	0 (0.0%)	1 (14.3%)	2 (28.6%)

Average Time-to-Degree for 2009-2010 graduates

ART-BA 17.7 ARED-BA 13.4

Department Academic Progress Rate: 894 College Academic Progress Rate: 856

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Business

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed Fall	Progress Fall	Retention Fall	Progressed Fall	Progress Fall	Retention Fall	Progressed Fall	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	2005	2005	2005	2006	2006	2006	2007	2007	2007	Rate	Rate	Rate
Total	223	69 (30.9%)	89 (39.9%)	158 (70.9%)	51 (22.9%)	79 (35.4%)	130 (58.3%)	50 (22.4%)	62 (27.8%)	112 (50.2%)	56 (25.1%)	76 (34.1%)	89 (39.9%)
Same Major		51 (22.9%)	65 (29.1%)	116 (52.0%)	34 (15.2%)	40 (17.9%)	74 (33.2%)	25 (11.2%)	31 (13.9%)	56 (25.1%)	29 (13.0%)	38 (17.0%)	44 (19.7%)
Changed Major		18 (8.1%)	24 (10.8%)	42 (18.8%)	17 (7.6%)	39 (17.5%)	56 (25.1%)	25 (11.2%)	31 (13.9%)	56 (25.1%)	27 (12.1%)	38 (17.0%)	45 (20.2%)

College Academic Progress Rate: 860

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Accounting

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
ACCT-BS	72	25 (34.7%)	31 (43.1%)	56 (77.8%)	20 (27.8%)	23 (31.9%)	43 (59.7%)	18 (25.0%)	21 (29.2%)	39 (54.2%)	16 (22.2%)	24 (33.3%)	32 (44.4%)
Same Major		22 (30.6%)	22 (30.6%)	44 (61.1%)	17 (23.6%)	10 (13.9%)	27 (37.5%)	11 (15.3%)	10 (13.9%)	21 (29.2%)	11 (15.3%)	14 (19.4%)	18 (25.0%)
Changed Major		3 (4.2%)	9 (12.5%)	12 (16.7%)	3 (4.2%)	13 (18.1%)	16 (22.2%)	7 (9.7%)	11 (15.3%)	18 (25.0%)	5 (6.9%)	10 (13.9%)	14 (19.4%)

Average Time-to-Degree for 2009-2010 graduates

ACCT-BS 16.7

Department Academic Progress Rate: 896 College Academic Progress Rate: 860

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort General Business

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year		Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Retained Fall	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	2008	Rate	Rate
Total	70	19 (27.1%)	27 (38.6%)	46 (65.7%)	10 (14.3%)	30 (42.9%)	40 (57.1%)	11 (15.7%)	23 (32.9%)	34 (48.6%)	13 (18.6%)	18 (25.7%)	22 (31.4%)	23 (32.9%)
Same Major		10 (14.3%)	21 (30.0%)	31 (44.3%)	5 (7.1%)	13 (18.6%)	18 (25.7%)	4 (5.7%)	9 (12.9%)	13 (18.6%)	6 (8.6%)	6 (8.6%)	11 (15.7%)	11 (15.7%)
Changed Major		9 (12.9%)	6 (8.6%)	15 (21.4%)	5 (7.1%)	17 (24.3%)	22 (31.4%)	7 (10.0%)	14 (20.0%)	21 (30.0%)	7 (10.0%)	12 (17.1%)	11 (15.7%)	12 (17.1%)
OA-AA	2	1 (1.5%)	0 (0.0%)	1 (50.0%)	0 (0.0%)	1 (50.0%)	1 (50.0%)	0 (0.0%)	1 (50.0%)	1 (50.0%)	0 (0.0%)	1 (50.0%)	1 (50.0%)	1 (50.0%)
Same Major		0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		1 (1.5%)	0 (0.0%)	1 (1.5%)	0 (0.0%)	1 (1.5%)	1 (1.5%)	0 (0.0%)	1 (1.5%)	1 (1.5%)	0 (0.0%)	1 (1.5%)	1 (50.0%)	1 (50.0%)
GBUS-BA	68	18 (26.5%)	27 (39.7%)	45 (66.2%)	10 (14.7%)	29 (42.6%)	39 (57.4%)	11 (16.2%)	22 (32.4%)	33 (48.5%)	13 (19.1%)	17 (25.0%)	21 (30.9%)	22 (32.4%)
Same Major		10 (14.7%)	21 (30.9%)	31 (45.6%)	5 (7.4%)	13 (19.1%)	18 (26.5%)	4 (5.9%)	9 (13.2%)	13 (19.1%)	6 (8.8%)	6 (8.8%)	11 (16.2%)	11 (16.2%)
Changed Major		8 (11.8%)	6 (8.8%)	14 (20.6%)	5 (7.4%)	16 (23.5%)	21 (30.9%)	7 (10.3%)	13 (19.1%)	20 (29.4%)	7 (10.3%)	11 (16.2%)	10 (14.7%)	11 (16.2%)

Average Time-to-Degree for 2009-2010 graduates

BA-BBA 15.7 OA-AA 11.0

Department Academic Progress Rate: 837 College Academic Progress Rate: 860

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Management

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
MGMT-BA	41	13 (31.7%)	16 (39.0%)	29 (70.7%)	11 (26.8%)	11 (26.8%)	22 (53.7%)	11 (26.8%)	7 (17.1%)	18 (43.9%)	11 (26.8%)	14 (34.1%)	16 (39.0%)
Same Major		10 (24.4%)	13 (31.7%)	23 (56.1%)	7 (17.1%)	7 (17.1%)	14 (34.1%)	7 (17.1%)	5 (12.2%)	12 (29.3%)	7 (17.1%)	8 (19.5%)	9 (22.0%)
Changed Major		3 (7.3%)	3 (7.3%)	6 (14.6%)	4 (9.8%)	4 (9.8%)	8 (19.5%)	4 (9.8%)	2 (4.9%)	6 (14.6%)	4 (9.8%)	6 (14.6%)	7 (17.1%)

Department Academic Progress Rate: 859 College Academic Progress Rate: 860

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort **Marketing & Finance**

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
Total	40	12 (30.0%)	15 (37.5%)	27 (67.5%)	10 (25.0%)	15 (37.5%)	25 (62.5%)	10 (25.0%)	11 (27.5%)	21 (52.5%)	8 (20.0%)	16 (40.0%)	18 (45.0%)
Same Major		9 (22.5%)	9 (22.5%)	18 (45.0%)	5 (12.5%)	10 (25.0%)	15 (37.5%)	3 (7.5%)	7 (17.5%)	10 (25.0%)	3 (7.5%)	5 (12.5%)	6 (15.0%)
Changed Major		3 (7.5%)	6 (15.0%)	9 (22.5%)	5 (12.5%)	5 (12.5%)	10 (25.0%)	7 (17.5%)	4 (10.0%)	11 (27.5%)	5 (12.5%)	11 (27.5%)	12 (30.0%)
FIN-BS	14	5 (35.7%)	4 (28.6%)	9 (64.3%)	4 (28.6%)	4 (28.6%)	8 (57.1%)	3 (21.4%)	4 (28.6%)	7 (50.0%)	1 (7.1%)	5 (35.7%)	5 (35.7%)
Same Major		5 (35.7%)	3 (21.4%)	8 (57.1%)	3 (21.4%)	3 (21.4%)	6 (42.9%)	1 (7.1%)	2 (14.3%)	3 (21.4%)	1 (7.1%)	1 (7.1%)	1 (7.1%)
Changed Major		0 (0.0%)	1 (7.1%)	1 (7.1%)	1 (7.1%)	1 (7.1%)	2 (14.3%)	2 (14.3%)	2 (14.3%)	4 (28.6%)	0 (0.0%)	4 (28.6%)	4 (28.6%)
MRKT-BA	26	7 (26.9%)	11 (42.3%)	18 (69.2%)	6 (23.1%)	11 (42.3%)	17 (65.4%)	7 (26.9%)	7 (26.9%)	14 (53.8%)	7 (26.9%)	11 (42.3%)	13 (50.0%)
Same Major		4 (15.4%)	6 (23.1%)	10 (38.5%)	2 (7.7%)	7 (26.9%)	9 (34.6%)	2 (7.7%)	5 (19.2%)	7 (26.9%)	2 (7.7%)	4 (15.4%)	5 (19.2%)
Changed Major		3 (11.5%)	5 (19.2%)	8 (30.8%)	4 (15.4%)	4 (15.4%)	8 (30.8%)	5 (19.2%)	2 (7.7%)	7 (26.9%)	5 (19.2%)	7 (26.9%)	8 (30.8%)

MRKT-BA 14.1

Department Academic Progress Rate: 865 College Academic Progress Rate: 860

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Education & Human Development

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
Total	218	79 (36.2%)	73 (33.5%)	152 (69.7%)	76 (34.9%)	78 (35.8%)	154 (70.6%)	51 (23.4%)	69 (31.7%)	120 (55.0%)	17 (7.8%)	79 (36.2%)	96 (44.0%)
Same Major		35 (16.1%)	41 (18.8%)	76 (34.9%)	31 (14.2%)	19 (8.7%)	50 (22.9%)	21 (9.6%)	16 (7.3%)	37 (17.0%)	3 (1.4%)	25 (11.5%)	22 (10.1%)
Changed Major		44 (20.2%)	32 (14.7%)	76 (34.9%)	45 (20.6%)	59 (27.1%)	104 (47.7%)	30 (13.8%)	53 (24.3%)	83 (38.1%)	14 (6.4%)	54 (24.8%)	68 (31.2%)

College Academic Progress Rate: 893

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Counseling & Human Development

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
Total	21	6 (28.6%)	4 (19.0%)	10 (47.6%)	4 (19.0%)	5 (23.8%)	9 (42.9%)	4 (19.0%)	5 (23.8%)	9 (42.9%)	3 (14.3%)	6 (28.6%)	7 (33.3%)
Same Major		2 (9.5%)	4 (19.0%)	6 (28.6%)	3 (14.3%)	2 (9.5%)	5 (23.8%)	2 (9.5%)	3 (14.3%)	5 (23.8%)	2 (9.5%)	3 (14.3%)	3 (14.3%)
Changed Major		4 (19.0%)	0 (0.0%)	4 (19.0%)	1 (4.8%)	3 (14.3%)	4 (19.0%)	2 (9.5%)	2 (9.5%)	4 (19.0%)	1 (4.8%)	3 (14.3%)	4 (19.0%)
FCS-BS	9	4 (44.4%)	1 (11.1%)	5 (55.6%)	4 (44.4%)	1 (11.1%)	5 (55.6%)	4 (44.4%)	1 (11.1%)	5 (55.6%)	3 (33.3%)	4 (44.4%)	4 (44.4%)
Same Major		2 (22.2%)	1 (11.1%)	3 (33.3%)	3 (33.3%)	1 (11.1%)	4 (44.4%)	2 (22.2%)	1 (11.1%)	3 (33.3%)	2 (22.2%)	2 (22.2%)	2 (22.2%)
Changed Major		2 (22.2%)	0 (0.0%)	2 (22.2%)	1 (11.1%)	0 (0.0%)	1 (11.1%)	2 (22.2%)	0 (0.0%)	2 (22.2%)	1 (11.1%)	2 (22.2%)	2 (22.2%)
SW-BA	12	2 (16.7%)	3 (25.0%)	5 (41.7%)	0 (0.0%)	4 (33.3%)	4 (33.3%)	0 (0.0%)	4 (33.3%)	4 (33.3%)	0 (0.0%)	2 (16.7%)	3 (25.0%)
Same Major		0 (0.0%)	3 (25.0%)	3 (25.0%)	0 (0.0%)	1 (8.3%)	1 (8.3%)	0 (0.0%)	2 (16.7%)	2 (16.7%)	0 (0.0%)	1 (8.3%)	1 (8.3%)
Changed Major		2 (16.7%)	0 (0.0%)	2 (16.7%)	0 (0.0%)	3 (25.0%)	3 (25.0%)	0 (0.0%)	2 (16.7%)	2 (16.7%)	0 (0.0%)	1 (8.3%)	2 (16.7%)

Average Time-to-Degree for 2009-2010 graduates

FCS-BS 15.0 SW-BA 16.0

Department Academic Progress Rate: 903 College Academic Progress Rate: 893

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Teaching & Learning

			Did Not			Did Not	Total		Did Not		Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Total Retention	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Total Retention	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	Fall 2005	Fall 2006	2006	2006	Fall 2007	2007	Fall 2007	Rate	Rate	Rate
Total	117	47 (40.2%)	43 (36.8%)	90 (76.9%)	50 (42.7%)	47 (40.2%)	97 (82.9%)	29 (24.8%)	41 (35.0%)	70 (59.8%)	6 (5.1%)	39 (33.3%)	54 (46.2%)
Same Major		20 (17.1%)	18 (15.4%)	38 (32.5%)	17 (14.5%)	9 (7.7%)	26 (22.2%)	10 (8.5%)	10 (8.5%)	20 (17.1%)	0 (0.0%)	12 (10.3%)	13 (11.1%)
Changed Major		27 (23.1%)	25 (21.4%)	52 (44.4%)	33 (28.2%)	38 (32.5%)	71 (60.7%)	19 (16.2%)	31 (26.5%)	50 (42.7%)	6 (5.1%)	27 (23.1%)	41 (35.0%)
ECED-BS	1	0 (0.0%)	1 (100.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (100.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Same Major		0 (0.0%)	1 (0.9%)	1 (0.9%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (0.9%)	1 (0.9%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
ELED-BS	112	46 (41.1%)	42 (37.5%)	88 (78.6%)	20 (17.9%)	30 (26.8%)	96 (85.7%)	28 (25.0%)	40 (35.7%)	68 (60.7%)	5 (4.5%)	39 (34.8%)	53 (47.3%)
Same Major		19 (17.0%)	17 (15.2%)	36 (32.1%)	16 (14.3%)	9 (8.0%)	25 (22.3%)	10 (8.9%)	9 (8.0%)	19 (17.0%)	0 (0.0%)	12 (10.7%)	13 (11.6%)
Changed Major		27 (24.1%)	25 (22.3%)	52 (46.4%)	33 (29.5%)	38 (33.9%)	71 (63.4%)	18 (16.1%)	31 (27.7%)	49 (43.8%)	5 (4.5%)	27 (24.1%)	40 (35.7%)
MSED-BS	1	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Same Major		0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
SEME-BA	3	1 (33.3%)	0 (0.0%)	1 (33.3%)	1 (33.3%)	0 (0.0%)	1 (33.3%)	1 (33.3%)	0 (0.0%)	1 (33.3%)	1 (33.3%)	1 (0.9%)	1 (0.9%)
Same Major		1 (33.3%)	0 (0.0%)	1 (33.3%)	1 (33.3%)	0 (0.0%)	1 (33.3%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	1 (33.3%)	0 (0.0%)	1 (33.3%)	1 (33.3%)	1 (0.9%)	1 (0.9%)

Average Time-to-Degree for 2009-2010 graduates

ECED-BS 19.5 ELED-BS 18.0 MSED-BS 23.5 SEME-BA 16.8

Department Academic Progress Rate: 896 College Academic Progress Rate: 893

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort General Studies

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
Total	77	11 (14.3%)	36 (46.8%)	47 (61.0%)	5 (6.5%)	33 (42.9%)	38 (49.4%)	5 (6.5%)	29 (37.7%)	34 (44.2%)	3 (3.9%)	12 (15.6%)	21 (27.3%)
Same Major		5 (6.5%)	27 (35.1%)	32 (41.6%)	1 (1.3%)	12 (15.6%)	13 (16.9%)	1 (1.3%)	8 (10.4%)	9 (11.7%)	1 (1.3%)	3 (3.9%)	4 (5.2%)
Changed Major		6 (7.8%)	9 (11.7%)	15 (19.5%)	4 (5.2%)	21 (27.3%)	25 (32.5%)	4 (5.2%)	21 (27.3%)	25 (32.5%)	2 (2.6%)	9 (11.7%)	17 (22.1%)
GENS-AGS	3	1 (33.3%)	1 (33.3%)	2 (66.7%)	1 (33.3%)	0 (0.0%)	1 (33.3%)	0 (0.0%)	1 (33.3%)	1 (33.3%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Same Major		0 (0.0%)	1 (33.3%)	1 (33.3%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		1 (33.3%)	0 (0.0%)	1 (33.3%)	1 (33.3%)	0 (0.0%)	1 (33.3%)	0 (0.0%)	1 (33.3%)	1 (33.3%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
GENS-BGS	74	10 (13.5%)	35 (47.3%)	45 (60.8%)	4 (5.4%)	33 (44.6%)	37 (50.0%)	5 (6.8%)	28 (37.8%)	33 (44.6%)	3 (4.1%)	12 (16.2%)	21 (28.4%)
Same Major		5 (6.8%)	26 (35.1%)	31 (41.9%)	1 (1.4%)	12 (16.2%)	13 (17.6%)	1 (1.4%)	8 (10.8%)	9 (12.2%)	1 (1.4%)	3 (4.1%)	4 (5.4%)
Changed Major		5 (6.8%)	9 (12.2%)	14 (18.9%)	3 (4.1%)	21 (28.4%)	24 (32.4%)	4 (5.4%)	20 (27.0%)	24 (32.4%)	2 (2.7%)	9 (12.2%)	17 (23.0%)

Average Time-to-Degree for 2009-2010 graduates

GENS-AGS 21.9 GENS-BGS 20.8

Department Academic Progress Rate: 852 College Academic Progress Rate: 852

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Nursing & Health Sciences

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed Fall	Progress Fall	Retention Fall	Progressed Fall	Progress Fall	Retention Fall	Progressed Fall	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	2005	2005	2005	2006	2006	2006	2007	2007	2007	Rate	Rate	Rate
Total	405	140 (34.6%)	149 (36.8%)	289 (71.4%)	99 (24.4%)	132 (32.6%)	231 (57.0%)	67 (16.5%)	121 (29.9%)	188 (46.4%)	27 (6.7%)	106 (26.2%)	141 (34.8%)
Same Major		122 (30.1%)	108 (26.7%)	230 (56.8%)	68 (16.8%)	83 (20.5%)	151 (37.3%)	39 (9.6%)	51 (12.6%)	90 (22.2%)	9 (2.2%)	34 (8.4%)	40 (9.9%)
Changed Major		18 (4.4%)	41 (10.1%)	59 (14.6%)	31 (7.7%)	49 (12.1%)	80 (19.8%)	28 (6.9%)	70 (17.3%)	98 (24.2%)	18 (4.4%)	72 (17.8%)	101 (24.9%)

College Academic Progress Rate: 878

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort **Communication Sciences & Disorders**

			Did Not			Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Total Retention	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	Fall 2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
SLHS-BS	5	0 (0.0%)	5 (100.0%)	5 (100.0%)	0 (0.0%)	4 (80.0%)	4 (80.0%)	1 (20.0%)	2 (40.0%)	3 (60.0%)	1 (20.0%)	2 (40.0%)	2 (40.0%)
Same Major		0 (0.0%)	3 (60.0%)	3 (60.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		0 (0.0%)	2 (40.0%)	2 (40.0%)	0 (0.0%)	4 (80.0%)	4 (80.0%)	1 (20.0%)	2 (40.0%)	3 (60.0%)	1 (20.0%)	2 (40.0%)	2 (40.0%)

Average Time-to-Degree for 2009-2010 graduates

CSD-BS

12.4

Department Academic Progress Rate: 946 College Academic Progress Rate: 878

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Kinesiology & Health Studies

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
Total	89	25 (28.1%)	41 (46.1%)	66 (74.2%)	24 (27.0%)	27 (30.3%)	51 (57.3%)	18 (20.2%)	28 (31.5%)	46 (51.7%)	8 (9.0%)	26 (29.2%)	39 (43.8%)
Same Major		18 (20.2%)	30 (33.7%)	48 (53.9%)	16 (18.0%)	15 (16.9%)	31 (34.8%)	13 (14.6%)	11 (12.4%)	24 (27.0%)	3 (3.4%)	3 (3.4%)	3 (3.4%)
Changed Major		7 (7.9%)	11 (12.4%)	18 (20.2%)	8 (9.0%)	12 (13.5%)	20 (22.5%)	5 (5.6%)	17 (19.1%)	22 (24.7%)	5 (5.6%)	23 (25.8%)	36 (40.4%)
ATHT-BS	21	6 (28.6%)	12 (57.1%)	18 (85.7%)	5 (23.8%)	7 (33.3%)	12 (57.1%)	5 (23.8%)	6 (28.6%)	11 (52.4%)	3 (14.3%)	6 (28.6%)	9 (42.9%)
Same Major		3 (14.3%)	8 (38.1%)	11 (52.4%)	2 (9.5%)	2 (9.5%)	4 (19.0%)	2 (9.5%)	0 (0.0%)	2 (9.5%)	1 (4.8%)	1 (4.8%)	1 (4.8%)
Changed Major		3 (14.3%)	4 (19.0%)	7 (33.3%)	3 (14.3%)	5 (23.8%)	8 (38.1%)	3 (14.3%)	6 (28.6%)	9 (42.9%)	2 (9.5%)	5 (23.8%)	8 (38.1%)
HEDP-BS	0		l	l		l			l				
Same Major			N/A			N/A			N/A		N/A	N/A	N/A
Changed Major			T			T			T				
KIN-BS	68	19 (27.9%)	29 (42.6%)	48 (70.6%)	19 (27.9%)	20 (29.4%)	39 (57.4%)	13 (19.1%)	22 (32.4%)	35 (51.5%)	5 (7.4%)	20 (29.4%)	30 (44.1%)
Same Major		15 (22.1%)	22 (32.4%)	37 (54.4%)	14 (20.6%)	13 (19.1%)	27 (39.7%)	11 (16.2%)	11 (16.2%)	22 (32.4%)	2 (2.9%)	2 (2.9%)	2 (2.9%)
Changed Major		4 (5.9%)	7 (10.3%)	11 (16.2%)	5 (7.4%)	7 (10.3%)	12 (17.6%)	2 (2.9%)	11 (16.2%)	13 (19.1%)	3 (4.4%)	18 (26.5%)	28 (41.2%)

Average Time-to-Degree for 2009-2010 graduates

ATHT-BS 12.5 HEDP-BS 16.9 HPE-BS 13.5 HS-BS 29.0 KIN-BS 16.0

Department Academic Progress Rate: 872 College Academic Progress Rate: 878

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Nursing

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
NURS-BS	311	115 (37.0%)	103 (33.1%)	218 (70.1%)	75 (24.1%)	101 (32.5%)	176 (56.6%)	48 (15.4%)	91 (29.3%)	139 (44.7%)	18 (5.8%)	78 (25.1%)	100 (32.2%)
Same Major		104 (33.4%)	75 (24.1%)	179 (57.6%)	52 (16.7%)	68 (21.9%)	120 (38.6%)	26 (8.4%)	40 (12.9%)	66 (21.2%)	6 (1.9%)	31 (10.0%)	37 (11.9%)
Changed Major		11 (3.5%)	28 (9.0%)	39 (12.5%)	23 (7.4%)	33 (10.6%)	56 (18.0%)	22 (7.1%)	51 (16.4%)	73 (23.5%)	12 (3.9%)	47 (15.1%)	63 (20.3%)

Average Time-to-Degree for 2009-2010 graduates

NURS-BS

18.9

Department Academic Progress Rate: 877 College Academic Progress Rate: 878

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Science & Technology

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
Total	359	83 (23.1%)	154 (42.9%)	237 (66.0%)	59 (16.4%)	113 (31.5%)	172 (47.9%)	47 (13.1%)	90 (25.1%)	137 (38.2%)	29 (8.1%)	67 (18.7%)	94 (26.2%)
Same Major		48 (13.4%)	100 (27.9%)	148 (41.2%)	23 (6.4%)	47 (13.1%)	70 (19.5%)	17 (4.7%)	26 (7.2%)	43 (12.0%)	7 (1.9%)	18 (5.0%)	25 (7.0%)
Changed Major		35 (9.7%)	54 (15.0%)	89 (24.8%)	36 (10.0%)	66 (18.4%)	102 (28.4%)	30 (8.4%)	64 (17.8%)	94 (26.2%)	22 (6.1%)	49 (13.6%)	69 (19.2%)

College Academic Progress Rate: 839

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Biological Sciences

			Did Not			Did Not			Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Total Retention	Progressed	Progress Fall	Total Retention	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	Fall 2005	Fall 2006	2006	Fall 2006	Fall 2007	2007	2007	Rate	Rate	Rate
Total	182	54 (29.7%)	81 (44.5%)	135 (74.2%)	41 (22.5%)	55 (30.2%)	96 (52.7%)	31 (17.0%)	46 (25.3%)	77 (42.3%)	18 (9.9%)	43 (23.6%)	55 (30.2%)
Same Major		32 (17.6%)	58 (31.9%)	90 (49.5%)	19 (10.4%)	25 (13.7%)	44 (24.2%)	15 (8.2%)	14 (7.7%)	29 (15.9%)	5 (2.7%)	14 (7.7%)	19 (10.4%)
Changed Major		22 (12.1%)	23 (12.6%)	45 (24.7%)	22 (12.1%)	30 (16.5%)	52 (28.6%)	16 (8.8%)	32 (17.6%)	48 (26.4%)	13 (7.1%)	29 (15.9%)	36 (19.8%)
BIOL-BS	173	52 (30.1%)	77 (44.5%)	129 (74.6%)	39 (22.5%)	51 (29.5%)	90 (52.0%)	29 (16.8%)	43 (24.9%)	72 (41.6%)	17 (9.8%)	41 (23.7%)	51 (29.5%)
Same Major		31 (17.9%)	55 (31.8%)	86 (49.7%)	18 (10.4%)	23 (13.3%)	41 (23.7%)	14 (8.1%)	14 (8.1%)	28 (16.2%)	5 (2.9%)	14 (8.1%)	18 (10.4%)
Changed Major		21 (12.1%)	22 (12.7%)	43 (24.9%)	21 (12.1%)	28 (16.2%)	49 (28.3%)	15 (8.7%)	29 (16.8%)	44 (25.4%)	12 (6.9%)	27 (15.6%)	33 (19.1%)
HORT-BS	1	0 (0.0%)	1 (100.0%)	1 (100.0%)	0 (0.0%)	1 (100.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Same Major		0 (0.0%)	1 (100.0%)	1 (100.0%)	0 (0.0%)	1 (100.0%)	1 (100.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
SCIB-BS	8	2 (25.0%)	3 (37.5%)	5 (62.5%)	2 (25.0%)	3 (37.5%)	5 (62.5%)	2 (25.0%)	3 (37.5%)	5 (62.5%)	1 (12.5%)	2 (12.5%)	4 (12.5%)
Same Major		1 (12.5%)	2 (25.0%)	3 (37.5%)	1 (12.5%)	1 (12.5%)	2 (25.0%)	1 (12.5%)	0 (0.0%)	1 (12.5%)	0 (0.0%)	0 (0.0%)	1 (0.0%)
Changed Major		1 (12.5%)	1 (12.5%)	2 (25.0%)	1 (12.5%)	2 (25.0%)	3 (37.5%)	1 (12.5%)	3 (37.5%)	4 (50.0%)	1 (12.5%)	2 (12.5%)	3 (12.5%)

Average Time-to-Degree for 2009-2010 graduates

BIOL-BS 16.0 HORT-BS 16.7 SCI-BS 16.0

Department Academic Progress Rate: 887 College Academic Progress Rate: 839

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Chemistry & Physics

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
Total	73	16 (21.9%)	24 (32.9%)	40 (54.8%)	9 (12.3%)	18 (24.7%)	27 (37.0%)	8 (11.0%)	15 (20.5%)	23 (31.5%)	5 (6.8%)	9 (12.3%)	14 (19.2%)
Same Major		10 (13.7%)	15 (20.5%)	25 (34.2%)	1 (1.4%)	2 (2.7%)	3 (4.1%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		6 (8.2%)	9 (12.3%)	15 (20.5%)	8 (11.0%)	16 (21.9%)	24 (32.9%)	8 (11.0%)	15 (20.5%)	23 (31.5%)	5 (6.8%)	9 (12.3%)	14 (19.2%)
CHEM-BS	44	8 (18.2%)	17 (38.6%)	25 (56.8%)	5 (11.4%)	13 (29.5%)	18 (40.9%)	4 (9.1%)	12 (27.3%)	16 (36.4%)	2 (4.5%)	4 (9.1%)	8 (18.2%)
Same Major		3 (6.8%)	11 (25.0%)	14 (31.8%)	0 (0.0%)	1 (2.3%)	1 (2.3%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		5 (11.4%)	6 (13.6%)	11 (25.0%)	5 (11.4%)	12 (27.3%)	17 (38.6%)	4 (9.1%)	12 (27.3%)	16 (36.4%)	2 (4.5%)	4 (9.1%)	8 (18.2%)
PHYS-BS	26	8 (30.8%)	7 (26.9%)	15 (57.7%)	4 (15.4%)	5 (19.2%)	9 (34.6%)	4 (15.4%)	3 (11.5%)	7 (26.9%)	3 (11.5%)	5 (19.2%)	6 (23.1%)
Same Major		7 (26.9%)	4 (15.4%)	11 (42.3%)	1 (3.8%)	1 (3.8%)	2 (7.7%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		1 (3.8%)	3 (11.5%)	4 (15.4%)	3 (11.5%)	4 (15.4%)	7 (26.9%)	4 (15.4%)	3 (11.5%)	7 (26.9%)	3 (11.5%)	5 (19.2%)	6 (23.1%)
SCIC-BS	3	1 (33.3%)	1 (33.3%)	2 (66.7%)	0 (0.0%)	2 (66.7%)	2 (66.7%)	0 (0.0%)	2 (66.7%)	2 (66.7%)	0 (0.0%)	0 (12.5%)	0 (12.5%)
Same Major		0 (0.0%)	1 (33.3%)	1 (33.3%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		1 (33.3%)	0 (0.0%)	1 (33.3%)	0 (0.0%)	2 (66.7%)	2 (66.7%)	0 (0.0%)	2 (66.7%)	2 (66.7%)	0 (0.0%)	0 (12.5%)	0 (12.5%)
SCIP-BS	0			L						L		I	
Same Major			N/A			N/A			N/A		N/A	N/	'A
Changed Major													

Average Time-to-Degree for 2009-2010 graduates

CHEM-BS 11.8 PHYS-BS 13.5 SCIC-BS N/A SCIP-BS N/A

Department Academic Progress Rate: 845 College Academic Progress Rate: 839

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Computer Science & Industrial Technology

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
Total	111	14 (12.6%)	51 (45.9%)	65 (58.6%)	10 (9.0%)	43 (38.7%)	53 (47.7%)	9 (8.1%)	32 (28.8%)	41 (36.9%)	7 (6.3%)	16 (14.4%)	28 (25.2%)
Same Major		7 (6.3%)	29 (26.1%)	36 (32.4%)	4 (3.6%)	21 (18.9%)	25 (22.5%)	3 (2.7%)	12 (10.8%)	15 (13.5%)	2 (1.8%)	4 (3.6%)	7 (6.3%)
Changed Major		7 (6.3%)	22 (19.8%)	29 (26.1%)	6 (5.4%)	22 (19.8%)	28 (25.2%)	6 (5.4%)	20 (18.0%)	26 (23.4%)	5 (4.5%)	12 (10.8%)	21 (18.9%)
CS-BS	66	6 (5.4%)	32 (48.5%)	38 (57.6%)	4 (3.6%)	23 (34.8%)	27 (40.9%)	4 (3.6%)	17 (25.8%)	21 (31.8%)	3 (2.7%)	8 (12.1%)	13 (19.7%)
Same Major		4 (3.6%)	19 (17.1%)	23 (20.7%)	0 (0.0%)	11 (9.9%)	11 (9.9%)	0 (0.0%)	6 (5.4%)	6 (5.4%)	0 (0.0%)	1 (1.5%)	1 (1.5%)
Changed Major		2 (1.8%)	13 (11.7%)	15 (13.5%)	4 (3.6%)	12 (10.8%)	16 (14.4%)	4 (3.6%)	11 (9.9%)	15 (13.5%)	3 (2.7%)	7 (10.6%)	12 (18.2%)
IT-AAS	11	4 (36.4%)	4 (36.4%)	8 (72.7%)	4 (36.4%)	4 (36.4%)	8 (72.7%)	3 (27.3%)	2 (18.2%)	5 (45.5%)	2 (18.2%)	2 (18.2%)	4 (36.4%)
Same Major		1 (9.1%)	3 (27.3%)	4 (36.4%)	2 (18.2%)	2 (18.2%)	4 (36.4%)	1 (9.1%)	1 (9.1%)	2 (18.2%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		3 (27.3%)	1 (9.1%)	4 (36.4%)	2 (18.2%)	2 (18.2%)	4 (36.4%)	2 (18.2%)	1 (9.1%)	3 (27.3%)	2 (18.2%)	2 (18.2%)	4 (36.4%)
IT-BS	34	4 (11.8%)	15 (44.1%)	19 (55.9%)	2 (5.9%)	16 (47.1%)	18 (52.9%)	2 (5.9%)	13 (38.2%)	15 (44.1%)	2 (5.9%)	6 (12.5%)	11 (12.5%)
Same Major		2 (5.9%)	7 (20.6%)	9 (26.5%)	2 (5.9%)	8 (23.5%)	10 (29.4%)	2 (5.9%)	5 (14.7%)	7 (20.6%)	2 (5.9%)	3 (0.0%)	6 (0.0%)
Changed Major		2 (5.9%)	8 (23.5%)	10 (29.4%)	0 (0.0%)	8 (23.5%)	8 (23.5%)	0 (0.0%)	8 (23.5%)	8 (23.5%)	0 (0.0%)	3 (12.5%)	5 (12.5%)

Average Time-to-Degree for 2009-2010 graduates

CS-BS 13.6 IT-AAS 19.0 IT-BA 16.0

Department Academic Progress Rate: 827 College Academic Progress Rate: 839

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Mathematics

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
Total	13	5 (38.5%)	3 (23.1%)	8 (61.5%)	3 (23.1%)	5 (38.5%)	8 (61.5%)	3 (23.1%)	3 (23.1%)	6 (46.2%)	2 (15.4%)	4 (30.8%)	5 (38.5%)
Same Major		0 (0.0%)	1 (7.7%)	1 (7.7%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		5 (38.5%)	2 (15.4%)	7 (53.8%)	3 (23.1%)	5 (38.5%)	8 (61.5%)	3 (23.1%)	3 (23.1%)	6 (46.2%)	2 (15.4%)	4 (30.8%)	5 (38.5%)
MATH-BS	4	1 (25.0%)	1 (25.0%)	2 (50.0%)	1 (25.0%)	0 (0.0%)	1 (25.0%)	1 (25.0%)	0 (0.0%)	1 (25.0%)	0 (0.0%)	1 (25.0%)	1 (25.0%)
Same Major		0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		1 (25.0%)	1 (25.0%)	2 (50.0%)	1 (25.0%)	0 (0.0%)	1 (25.0%)	1 (25.0%)	0 (0.0%)	1 (25.0%)	0 (0.0%)	1 (25.0%)	1 (25.0%)
MATE-BS	9	4 (44.4%)	2 (22.2%)	6 (66.7%)	2 (22.2%)	5 (55.6%)	7 (77.8%)	2 (22.2%)	3 (33.3%)	5 (55.6%)	2 (22.2%)	3 (33.3%)	4 (44.4%)
Same Major		0 (0.0%)	1 (11.1%)	1 (11.1%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		4 (44.4%)	1 (11.1%)	5 (55.6%)	2 (22.2%)	5 (55.6%)	7 (77.8%)	2 (22.2%)	3 (33.3%)	5 (55.6%)	2 (22.2%)	3 (33.3%)	4 (44.4%)

Average Time-to-Degree for 2009-2010 graduates

MATH-BS 12.0 MATE-BS 13.0

Department Academic Progress Rate: 872 College Academic Progress Rate: 839

Progression and Retention Rates Fall 2004 Revised Freshmen Cohort Undecided

			Did Not	Total		Did Not	Total		Did Not	Total	Four Year	Five Year	Six Year
	Original	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Progressed	Progress Fall	Retention Fall	Graduation	Graduation	Graduation
	Cohort	Fall 2005	2005	2005	Fall 2006	2006	2006	Fall 2007	2007	2007	Rate	Rate	Rate
UNDECIDED	541	135 (25.0%)	232 (42.9%)	367 (67.8%)	87 (16.1%)	216 (39.9%)	303 (56.0%)	84 (15.5%)	161 (29.8%)	245 (45.3%)	53 (9.8%)	133 (24.6%)	178 (32.9%)
Same Major		68 (12.6%)	160 (29.6%)	228 (42.1%)	9 (1.7%)	93 (17.2%)	102 (18.9%)	0 (0.0%)	20 (3.7%)	20 (3.7%)	0 (0.0%)	0 (0.0%)	0 (0.0%)
Changed Major		67 (12.4%)	72 (13.3%)	139 (25.7%)	78 (14.4%)	123 (22.7%)	201 (37.2%)	84 (15.5%)	141 (26.1%)	225 (41.6%)	53 (9.8%)	133 (24.6%)	178 (32.9%)